m RAW 700 KRAKEN ORANGE [SG755]

Please read this user manual carefully, it contains instructions for the correct assembly of the KIT.
Please refer to the website www.goblin-helicopter.com for updates and other important information. Thanks You.

/

L Z Main Blade
[S701]

Orange Canopy

(H2043-S) Orange Boom

(H2044-5)

o

.

Tail Blade

ESC Mount
' (H1718-S)

Orange SX Low Side Frame
(H2041-S)

Orange DX Low Side Frame
(H2042-S)

Landing Gear Light SET
(H1431-S)

Main Frame_!
(H1894-S)

]

Page 01 A—

SAB HELI DIVISION




i
\
)

INSTALLATION OF THE MOTOR/ESC

Flat Head Cap
Screw M3x5mm
>HC132-S)

F ESC Mount
(H1718-S)

Socket Head Cap
Screw M3x6mm
(HC044-S)

ESC Mount Spacer
'4(H1718-S)

Socket Head Cap
Screw M2.5x10m

(HC022-5)
ESC Suppor
Assembly ESC Support ocket Head Cap
Assembly Screw M3x6mm
(HC044-S)

Nylon Nut M2.5mm
(HC200-S)

SAEB HELI DIVISION




m LANDING GEAR INSTALLATION

Canopy Front Lock
Assembly
(H1073-S)

Landing
ear Plug

Socket Head Cap /
Screw M2.5x10mm P
(HC022-S)

Alu Landing Gear |
Support Mount !
Assembly

! (H1408-S)

Plastic Landing
Gear Support !
H1407-W-S)
Landing Gear Rod
(H1242-S) l

Socket Head Cap \\\ m :
Screw M2.5x8mmn \

(HC020-5)

SAB HELI DIVISION

Page 03 4 ¢ 4




SPARE PARTS

Landing Gear Light SET
(H1431-5)

. ;
- — e

ﬁ‘ . —
tteco0efc o A
f'@@’ﬂ'&) ‘
TT:;@’B'S&‘
TT@@'R'Se«‘

ESC Mount
(H1718-S)

-1 x ESC Mount.
- 2 x ESC Mount Spacer.
- 4 x Head Cap Screw M3x6.

Main Frame
(H1894-S)

-1 x Main Frame.

- 1 x Orange SX Low Side Frame.

P —

“_‘%j

B - N

- 1 x Orange DX Low Side Frame.

- 1 x Landing Gear Light SET. - 4 x Flat Head Screw M3x5. - 2 x Bushing.
Orange SX Low Side Frame Orange DX Low Side Frame Orange Canopy
(H2041-S) (H2042-S) (H2043-S)

- 1 x Orange Canopy.
- 2 x Canopy Grommet.

Orange Boom
(H2044-S)

-1 x Boom Kraken RAW.
- 2 x Locking Element Tail.

- 4 x Metric Hex Nylon Nuts M3.
- 2 x Double Sided Tapes.
-1 x Nut Block.

Main Blade 701
[S701]

=
L ——

- 2 x Main Blade S701.

Tail Blade S105
[S105]

- 2 x Tail Blade S105.

SAEB HELI DIVISION




	SG755-S-01
	Sheet1
	Drawing View1
	Drawing View3


	SG755-S-02
	Sheet1
	Drawing View5
	Drawing View7
	Drawing View8
	Drawing View9


	SG755-S-03
	Sheet1
	Drawing View13
	Drawing View14
	Drawing View15
	Drawing View16


	SG755-S-04
	Sheet1
	Drawing View2
	Drawing View3
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View12
	Drawing View14



